BAF 3M1 – Exam Review

1. The best way to express the fundamental accounting equation is:

a) Assets + Owner’s Equity = Liabilities

b) Assets = Liabilities + Owner’s Equity

c) Assets = Liabilities – Owner’s Equity

d) Assets + Liabilities = Owner’s Equity

2. The assets listed below should be set up in the following order on a balance sheet: 1. Supplies; 2. Accounts Receivable; 3. Cash; 4. Building

a) 1, 3, 2, 4

b) 3, 2, 1, 4

c) 3, 1, 2, 4

d) 3, 2, 4, 1

3. If the total assets of a business are $38 400.50 and the total liabilities are $12 595.20, the owner’s equity is:

a) $50 995.70.

b) $25 805.30.

c) $38 400.50.

d) none of the above.

4. On December 31, 20-1, a business had $150 000 in assets and $70 000 in liabilities. If, during the next year, assets increased by $70 000 and liabilities decreased by $20 000, the owner’s equity at December 31, 20-2, would be:

a) $150 000.

b) $130 000.

c) $170 000.

d) $60 000.

5. Which of the following items would not be classified as an asset of a business?

a) Cash on hand

b) The amount of a creditor’s claim

c) Store equipment

d) Money a customer owes

6. If dollar signs are used on a balance sheet, they should appear before:

a) every amount on the balance sheet.

b) the first amount in a column.

c) the first amount beneath a double-ruled line.

d) both b. and c. above.

7. Teresa Sedore has decided to close down her business and sell off her assets. Her Capital balance before liquidation is $30 000. Assets valued at $35 000 were sold for $16 000 in cash. The total liabilities of $5 000 were paid in full. She paid the liquidator $1 000. After liquidation of her assets 
and liabilities, Sedore’s Capital balance would be:

a) $19 000.

b) $11 000.

c) $25 000.

d) $10 000.

e) none of the above

8. H. Hyland, the owner of Sparkling Dry Cleaners, submitted an invoice received from Speedy Auto Service for repairs to his wife’s car; he has instructed you to issue a cheque in full payment of the account. The correct entry is:

a) debit Automobile; credit Bank.

b) debit Car Expense; credit Bank.

c) debit Car Expense; credit H. Hyland, Drawings.

d) debit Car Expense: credit Accounts Payable.

e) debit H. Hyland, Drawings; credit Bank.

9. Which of the following would not be correct in the heading of an income statement?

a) December 31, 20—

b) Al’s Tireland Ltd.

c) Income Statement

d) Year Ended June 30, 20—

10. The fiscal period is usually:

a) measured in weeks.

b) twenty-four months.

c) a length of time that is less than one year.

d) one year long.

e) Two of the above are true.

11. The income statement will:

a) indicate to the owner the cash position of the business.

b) be used to determine the amount of income tax the business must pay.

c) tell bankers if the business is in a good position to pay its bills.

d) reveal the amount of money withdrawn by the owner.

e) Two of the above are true.

12. The Fees Earned figure could include:

a) sale of the owner’s personal assets.

b) sale of company’s office furniture.

c) sale of company’s automobile.

d) all of the above.

13. The fiscal year-end for a business is December 31, 20-1. On December 28, 20-1, the business pays the rent for January 20-2, and the accounting clerk debits Rent Expense and credits Bank. The IFRS that has been violated is:

a) the time period concept.

b) the principle of conservatism.

c) the matching principle.

d) the business entity concept.

e) no IFRS has been violated.

14. When cash services are performed:

a) Accounts Receivable is debited, Fees Earned is credited.

b) Cash is debited, Fees Earned is credited.

c) Cash is debited, Accounts Receivable is credited.

d) Fees Earned is debited, Cash is credited.

e) none of the above occurs.

15. During the lifetime of a business, accountants produce financial statements at specific points in time in accordance with which basic accounting concept?

a) the time period concept

b) the principle of conservatism

c) the matching principle

d) the business entity concept

e) none of the above

16. The figure that an accountant uses as the base amount when preparing a common-size balance sheet is:

a) total current assets.

b) total fixed assets.

c) total current liabilities.

d) total owner’s equity.

e) none of the above.

17. The HST Payable account is:

a) a current liability.

b) a Drawings account.

c) a current asset.

d) an expense..

18. The IFRS that requires accountants to include, in the context of financial reporting, all information that is significant to the users of financial statements is called:

a) the consistency principle.

b) the materiality principle.

c) the exceptions principle.

d) the full disclosure principle.

e) none of the above.

19. The obligation of a company’s officers to show how well they have been managing the company is called:

a) auditing.

b) disclosing.

c) shareholder responsibility.

d) performance reporting.

e) none of the above.

20. Working capital is: 

a) included in the equity section of the balance sheet.

b) a temporary, project-based investment by the owner.

c) found by subtracting current liabilities from current assets.

d) another term for “increase in capital.”

e) none of the above.
21. A one-year insurance policy was purchased for $960 on July 1, 20-1. On December 31, 20-1, it had an unexpired value of:

a) $240.

b) $480.

c) $560.

d) $400.

e) none of the above.

22. The accountant did not prepare an entry to adjust the Supplies account at the end of the accounting period and, as a result:

a) the Supplies account was overstated.

b) the total expenses were understated.

c) the net income was overstated.

d) the owner’s equity was overstated.

e) all of the above are true.

23. On the basis of the following data, what is the proper adjusting entry for June 30, the end of the fiscal year?


•
Supplies account balance before adjustment, $1 900


•
Supplies physical inventory on June 30, $750

a) Debit Supplies $750; credit Supplies Expense $750.

b) Debit Supplies Expense $750; credit Supplies $750.

c) Debit Supplies Expense $1 900; credit Supplies $1 900.

d) Debit Supplies $1 900; credit Supplies Expense $1 900.

e) Debit Supplies Expense $1 150; credit Supplies $1 150.

24. The source of data for preparing closing entries is:

a) the trial balance.

b) the work sheet.

c) the general ledger.

d) all of the above.

25. Before the Income Summary account is closed, a credit balance represents the:

a) total expenses for the accounting period.

b) net loss for the accounting period.

c) net income for the accounting period.

d) total assets for the accounting period.

26. When all closing entries have been posted, a net income will be shown on the:

a) credit side of the Drawings account.

b) debit side of the Capital account.

c) credit side of the Capital account.

d) debit side of the Drawings account.

27. The net income or net loss figure shown in the Income Summary account will also appear on:

a) the income statement.

b) the worksheet.

c) the balance sheet.

d) all of the above.

28. Which of the following accounts is not closed out at the end of the accounting period?

a) Wages Expense

b) Accounts Receivable

c) Bank Charges

d) Drawings

29. The last step in the basic accounting cycle is the:

a) financial statements.

b) post-closing trial balance.

c) closing journal entries.

d) adjusting journal entries.

30. Which of the following payments made by McCann Hardware Store should be recorded by debiting the Purchases account?

a) purchase of a delivery truck

b) purchase of office supplies

c) purchase of merchandise

d) payment of merchandise freight charges

e) two of the above

31. The term “merchandise inventory” means:

a) merchandise on hand.

b) merchandise sold.

c) merchandise bought.

d) a fixed asset.

e) none of the above.

32. Beginning inventory plus purchases minus ending inventory equals:

a) cost of goods available for sale.

b) cost of goods sold.

c) gross income.

d) net purchases.

e) none of the above.

33. A credit invoice issued by a business will:

a) decrease the liabilities.

b) increase the capital.

c) decrease the assets.

d) increase the assets.

e) do none of the above.

34. Up-to-the-minute information about a company’s stock is best provided by:

a) stock clerks.

b) perpetual inventory systems.

c) periodic inventory systems.

d) integrated accounting systems.

e) none of the above.

35. The merchandise inventory on hand at the end of a fiscal period:

a) increases the cost of goods sold.

b) decreases the cost of goods sold.

c) decreases the gross income.

d) decreases the net income.

e) does none of the above.

36. Special charges imposed by the government on certain goods imported from a foreign country are known as:

a) duties.

b) cross-border taxes.

c) freight-in.

d) delivery expenses.

e) none of the above.

37. A current asset is an asset that:

a) is due within 30 days or whatever the credit terms are

b) was purchased within the last fiscal year

c) is the first in the list of assets

d) will turn into cash or be used up within one year
38. Supplies expense should be recognized when:

a) the bill is received

b) the supplies are received

c) the bill is paid

d) the supplies are used up

39. Which IFRS would support excluding personal expenses from the calculation of net income?

a) Matching Principle

b) Time Period Principle

c) Business Entity Concept

d) Cost Principle

40. After closing entries, the balance will be zero in:

a) revenue accounts

b) accumulated depreciation accounts

c) equity accounts

d) all of the above

41. Liquidity is to assets as _________ is to liabilities.

a) maturity date 

b) solidity

c) equity

d) capitalization

42. The cost of an automobile for business use is:

a) an asset of the business

b) shown on the balance sheet at its’ original cost

c) an expense spread over its’ useful life

d) all of the above

43. If you wanted to see the balance of a particular account you would look at:

a) the ledger

b) the journal

c) source documents

d) financial statements

44. When listed in order of liquidity, which is correct:

a) accounts receivable, stocks and bonds, cash

b) stocks and bonds, accounts receivable, cash

c) cash, stocks and bonds, accounts receivable

d) cash, accounts receivable, stocks and bonds

45. A balanced trial balance will ensure:

a) all entries have been made correctly

b) all amounts have been posted correctly

c) debits equal credits

d) account balances are correct

46. On March 1, 2017, a three-year insurance policy was purchased for $1,980 and the amount was recorded as Prepaid Insurance on that date.  The adjustment at the end of the year (December 31, 2017) will be:

a) debit prepaid insurance, $550; credit insurance expense $550

b) debit insurance expense $660; credit prepaid insurance $660

c) debit prepaid insurance $1,430; credit insurance expense $1,430

d) debit insurance expense $550; credit prepaid insurance $550

47. The owner’s capital at the beginning of year was $23,000 and the owner’s capital at the end of the year was $15,000.  The business incurred a net loss of $5,000 during the year.  The balance of the drawings account was:

a) $8,000

b) $3,000

c) $13,000

d) $38,000

48. If the total revenue is less than the total expenses, then to balance the Income Statement and Balance Sheet columns on the worksheet, you would:

a) debit the Income Statement column and credit the Balance Sheet column.

b) debit the Income Statement column and debit the Balance Sheet column

c) credit the Income Statement column and credit the Balance Sheet column

d) credit the Income Statement column and debit the Balance Sheet column

49. Accounting requires that the revenues be recorded in the period earned and that the costs incurred in securing the revenue be recorded in the same period.  This describes:

a) the cost principle

b) the matching principle

c) the separate entity concept

d) the objectivity principle

e) none of the above

50. During an accounting period a company’s assets increased by $50,000 and its liabilities decreased by $27,000.  The Owner’s Equity must have:

a) increased by $77,000

b) decreased by $77,000

c) increased by $23,000

d) decreased by $23,000

e) none of the above

51. On March 1, the business paid $4,500 for three months’ rent on the office building.  What is the rent expense for the month of March?

a) Zero, rent is not an expense

b) $3,000

c) $1,500

d) $4,500
Questions 62 through 67 relate to the accounts and balances shown below:


Waterloo Accounting Consultants had the following accounts and balances for the quarter ended March 31, 2017:


Accounts Receivable
12,000.00


Accounts Payable
5,000.00


Utilities Expense
1,200.00


Building
60,000.00


Land
120,000.00


Telephone Expense
220.00


Fees Revenue
125,000.00


Company Cars
60,000.00


C. Dawson, Capital
???????


D. Dawson, Drawings
22,000.00


Supplies
560.00


Bank Loan (due within six months)
5,200.00


Maintenance Expense
2,300.00


Mortgage Payable
60,000.00


Salaries
28,000.00


Furniture
5,200.00


Advertising Expense
2,200.00


Cash
8,500.00


Miscellaneous Expense
600.00


Equipment
42,000.00


Prepaid Insurance
200.00

52. What is the value of the current assets held by the business:

a) $20,200.00

b) $21,260.00

c) $20,640.00

d) $21,200.00

e) $63,480.00

53. What is the value of the fixed assets of the business:

a) $287,200.00

b) $277,200.00

c) $283,660.00

d) $263,660.00

e) $182,300.00

54. What is the value of the expenses for the quarter:

a) $43,520.00

b) $34,250.00

c) $42,250.00

d) $34,520.00

e) $53,340.00

55. What is the value of the income or (loss) for the quarter:

a) ($90,480.00)

b) ($90,840.00)

c) $90,840.00

d) $90,480.00

e) $84,980.00
56. What is the beginning capital balance of the owner, C. Dawson:

a. $236,660.00

b. $238,260.00

c. $283,660.00

d. $263,660.00

e. $182,300.00

57. What is the ending capital balance of the owner, C. Dawson:

a. $216,260.00

b. $328,740.00

c. $306,740.00

d. $308,260.00

e. $182,300.00

58. Prepaid expenses are:

a) a fixed asset of the business

b) a current liability of the business

c) an operating expense of the business

d) an expense which has been paid for in advance

59. On the basis of the following data, what is the proper adjusting entry for June 30, the end of the fiscal year?

supplies account balance before adjustments, $1,900

supplies physical inventory on June 30, $750

a) Debit supplies, $750; credit supplies expense, $750

b) Debit supplies expense, $750; credit supplies, $750

c) Debit supplies expense $1900; credit supplies, $1900

d) Debit supplies $1900; credit supplies expense $1900

e) Debit supplies expense $1150; credit supplies $1150

60. A debit balance in the Income Summary account, after closing entries have been posted to it, indicates a:

a) net income that increases the owner’s equity

b) net loss that decreases the owner’s equity

c) net loss that increases the owner’s equity

d) net income that decreases the owner’s equity

e) none of the above

61. If  an entry involves a credit to an asset account, it may also involve a debit to:

a) a liability account

b) an expense account

c) an equity account

d) all of the above

62. The Cost Principle states that:

a) assets should be listed at the invoice price

b) assets should be listed at the current market price

c) assets should be listed at a price determined by the business accountant

d) assets should be listed in order of liquidity

e) none of the above

63. The owner of a business invested $10,000.  During the year, the owner invested a further $3,000 and had a drawing from the business of $1,000.  The year-end capital balance of the business is $23,000 and the cash account balance is $2,500.  Which of the following is correct?

a) the business had a loss of $9,500

b) the business had a profit of $9,500

c) the business had a loss of $11,000

d) the business had a profit of $11,000

e) none of the above

64. The appearance of which of the following accounts on a post-closing trial balance would indicate an error had occurred?

a) accounts payable

b) capital

c) equipment

d) drawings

65. If the total of the trial balance is $54 greater on the debit side than on the credit side, it is possible that:

a) a $54 credit entry was not posted

b) a $27 entry was posted to the debit side of both accounts

c) a transposition error occurred

d) all of the above

e) none of the above

66. Liabilities are debts owed to:

a) debtors

b) creditors

c) clients

d) customers 

e) business owners

67. The Concept of Objectivity refers to:

a) having an outside accountant audit your books

b) having two different people to handle cash and shipping

c) having source documents on file for all transactions

d) having internal audits of financial records

68. Adjustments allow you to write off a portion of a(n):

a) current asset

b) current liability

c) fixed asset 

d) long-term debts

e) all of the above

	81.
	Business debts owed to us by our customers are known as accounts payable.
	T
	F

	82.
	If the capital of the business is over $30 000 and the business owes creditors $10 000, then the assets must total $40 000.
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	83. 
	The fundamental accounting equation is usually stated as:
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	Assets = Owner’s Equity + Liabilities.
	
	

	84. 
	There are certain creditors whose claims against the assets of a business are settled after the owner’s claims.


	T
	F

	85. 
	Debtor accounts are listed in the liability section of the balance sheet.
	T
	F

	86. 
	General Bakeries Limited is the name of a business; therefore, the word “Limited” can be abbreviated to Ltd. on the balance sheet.
	T
	F

	87.
	Capital represents the claim of the owner or owners in a business.
	T
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	88.
	If the total assets on a balance sheet are $50 000 and the total owner’s equity is
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	$40 000, then the total liabilities are $90 000.
	
	

	89.
	The IFRS that assumes a business will continue to operate, unless it is known that such is not the case, is the business entity concept.
	T
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	90.
	IFRS are generally accepted auditing principles, concepts, and conventions.
	T
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	91.
	When business transactions occur, at least three of the individual balance sheet items must change.
	T
	F

	92.
	A transaction takes place, leaving a business in a better financial position. Therefore Capital has most likely increased.
	T
	F

	93. 
	When equipment valued at $4 000 is sold for $1 000 cash, the items affected are 
Cash and Equipment.
	T
	F

	94. 
	The Objectivity Principle is a IFRS related to source documents.
	T
	F

	95. 
	At the end of the month, the inventory of supplies has decreased by $350. This transaction causes Capital to increase.
	T
	F

	96. 
	The business papers that inform the accounting department of transactions that require an accounting entry are called balance sheets.
	T
	F

	97. 
	The owner’s withdrawal of cash for personal use reduces Cash and Accounts Payable.
	T
	F

	98.
	All accounting entries are based on source documents.
	T
	F

	99.
	The ledger is often called the book of original entry.
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	100.
	When a company issues a sales invoice to a customer, this invoice becomes a purchase invoice in the customer’s books.
	T
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	101.
	For all bank debit memos received, the accounting entry will be a debit to Bank.
	T
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